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LIFE SCIENCE
Paper 11
Time Allowed : 1% Hours] (Maximum Marks : 100

Note :— This question paper consists of fifty (50) multiple choice questions. Each

question carries fwo (2) marks, Attempt all questions.

1.  Which of the following is not a High level language ?

(A) FORTRAN (B) COBOL

(C) C++ (D) NASM
2, Lotus Software belongs to .......cccceviviniiiirivnnnnnns .

(A) Microsoft - | (B) IBM

(C) Apple Inc (D)  None of these
3. Which is the world’s most powerful supercomputer ?

(A) Tianhe-2 (B)  Titan

(C) Mira (D) Vulean
4,  Which of the following is not a processor manufacturer ?

(A) Nvidia (B) AMD

(C) Qualecomm (D) Apple
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B AR gt e oo is a set of networks that are under the control of a single

administrative entity.

(A) Ethernet (B) Intranet

(C) Extranet (D) Internet
6. Processor is mounted on ..........cccocerervreeieieernnnnn, X

(A) Motherboard (B) Keyboard

(C) ROM (D) RAM

7.  Which of the following is not a classification of Software based on Purpose/

Application ?
(A) Applicatidn software
(B) Malicious software
(C) System software
(D) Server software
8. A CPU does not consist of :
(A} Motherboard (B)_ RAM

(C) Hard Disk (D)  Picture Tube

T.B.C. : 25/15/ET—IT 4
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9. How is a machine language written ?
(A) Binary Code
(B) Assembly Language
(C) Mnemonic Codes
(D) Low Level Language
10. High level languages are converted into Machine language using :
(A) Assemb.ler (B) Scanner
(C) Compiler _ (D) Decoder
11. Common between ostrich, penguin and kiwi is that all are ...................
(A) Running . (Bi Migratory
(C) Flightless e _J (D) Four toed
12. Cotton is a :

(A) Surface fibre (B) Hard fibre

(C) Bast fibre (D) Stem fibre

T.B.C. : 25/15/ET—II 6
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13. A man-made allopolyploid cereal crop is :
(A) Hordeum vulgare
(B) Raphanobrassica
(C) Triticale
(D) Maize

14. The relationship between two organisms in which one is benefitted while other

is neither harmed nor benefitted is known as :
(A) Commensalism (B) Parasitism
(C) Proto-coopération ' (D) Mutualism
15. Increase in the concentration. of pollutants in higher trophic level is called :

(A) Bio-degradation (B) Eutrophication

»
w»

(C) Recycling (D) Biomagnification
16. An aquatic fern which is also an excellent biofertilizer is ¢
(A) Salvinia (B) - Marsilea

(C) Azolla (D)  Pteridium
T.B.C. : 25/15/ET—I1 8
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17. Osmosis is defined as the process in which :

(A)

(B)

(C)

(D)

water diffuses from lower solute concentration to higher solute

concentration
solution diffuses from lower concentration to higher concentration
active transport of ion takes place

passive transport of ion takes place

18. Cleistogamous flowers :

(A)

(B)

(&)

(D)

open after sundown
open during day time
never open

never close

19. When a man inhales air containing carbon monoxide, he suffers from suffocation

because :

(A)

(B)

(C)

(D)
T.B.C. :

Carbon monoxide reacts with oxygen, which is thus removed from the air

entering the lung

Haemoglobin combines with carbon monoxide instead of oxygen and the

product cannot dissociate
Carbon monoxide affects the nerve supply to the lungs

Carbon monoxide paralyzes the diaphragm and intercostals muscles

25/15/ET—I 10
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2(0. Which of the following types of plastids store proteins ?
(A) Elaioplasts (B) Amyloplasts
(C) Aleuroplasts (D)  Chromoplasts
21. Polyribosomes or polysomes are group of ribosomes which :
(A) are attached to single ;nRNA molecule during protein synthesis
(B) are attached to ER
(C) lie freely in cytoplasm
(D) are attachgd to Golgi bodies

22. Deficiency of which element causes stunted growth in young plants and dark

green coloration of leaves along with small spots of dead tissue ?
{A) Nitrogen (B)  Phosphorus
(C) Potassium | : (D) . Magnesium

23. Endosperm serves as a food storing tissue_in the seeds of :

(A) Bean (B) Castor

(C) Gram (D)  Pea
T.B.C. : 25/15/ET—I1 12
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24. Calmodulins are :
(A) iron-porphyrin proteins
(B) calcium-containing proteins
(C) ecalcium-binding proteins
(D) copper-binding proteins
25. A pathological condition called pleurisy is :
(A) inflammation of alveoli of lungs
(B) inflammation of alveoli, alveolar ducts and respiratory bronchioles
(C) inflammation of pleura resulting in accumulation of fluid-inside flu lungs

(D) inflammation of pleura with the secretion of fluid which exerts excessive

pressure on the lungs.
26. Red rot of sugarcane is a :
(A) fungal disease
(B) nematode disease
(C) bacterial disease

(D) wviral disease

T.B.C. : 256/15/ET—II 14
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27.

29.

30.

Association between a fungus and green alga is called ;

(A) lichen (B) mould

(C) mycorrhiza (D) yeast

The linkage between the monosaccharides to form a disaccharide is called -
(Ai covalent linkage

(B) glycosidic linkage

(C) peptide linkage

(D) carboxyl linkage

Which of the following hormones plays dual role of a plant growth regulator

and an important signaling agent in plant defense responses ?
(A) Ethylene (B)  Brassinosteroids
(C) Jasmonic acid : (D)  Cytokinins
Linnaeus system of plant classification is :

(A) artificial : (B)  natural

(C) phylogenetic (D) none of these

T.B.C. : 25/15/ET—I1 16
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31. Allergens are :

(A) non-infectious antigens that induce hypersensitive IgE-mediated immune-

reaction

(B) infectious antigens that induce hypersensitive IgE-mediated immune

response

(C) infectious antigens that induce hypersensitive IgG-mediated immune

reaction

(D) non-infectious antigens that do not induce hypersensitive 1gG-mediated

immune reaction

32. Dosage compensation prevents -

(A) Inactivation of Y chromosome

(B) Doubling of sex-linked gene products

(C) Inactivation of both X chromosomes

(D) Doubling of autosomal gene products

T.B.C. : 25/15/ET—I1 18
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33. Gap junctions are made up of :
(A) Connexin
(B) Connexin and ductin
(C) Ductin
(D) Proton molecule
: 34. The greatest amount of energy released per molecule of glucose is during ;
(A) fermentation by a yeaét cell
(B) aerobic respiration by an amoeba
(C) glycolysis in a liver cell
(D) lactic acid formation in a muscle cell

35. Function of tRNA is to bring :

\.4

(A) anticodon to the ribosome

(B) anticodon to the mRNA

(C} amino acids to the ribosome

(D) amino acids to the mRNA

T.B.C. : 25/15/ET—II 20



33. T SR fFes & 2@ & 7
(A) Frfrsa
(B) #fFma iR =frA
(C) =fA
(D) "WEem 21
34, TEENE ® UHH AY H W oW Al Auwan Tl fHe v @i ¥ 2
(A) ¥ wifve & fEva & dm
(B) 37t 31 S vaEE & O
(©) T e § R * d
(D) it wifeem d dfes @ a7 % A
35. tRNA &1 %@ #n @ & & 2
| (A)@maﬁm%
(B) T=IHIEA ® mRNA ™
(C) U 3E # TEEEE W

(D) uwHt ansi F mRNA W

T.B.C. : 25/15/ET—II 21 P.T.O.



36. Which of the following reactions is used in conversion of pyruvic acid to

Acetyl CoA ?
(A) oxidative phosphorylation
(B) oxidative decarboxylation
(C) oxidative dehydrogenation
(D) oxidative hydroxylation
37. In the classical model of transeription, a represser protein binds to :
(A) Operator
(B) Enhancer
(C) TATA box.
(D) AUG sequence
38. Calculate the pH of 0.1 M acid with K, = 1079 :
(A) 0
(B) 4
(C) 6

(D) 2

T.B.C. : 25/15/ET—II 22
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39.

4().

41.

Enzymes with two binding sites are called :

(A) Apoenzymes (B) Holoenzymes
(C) Allosteric enzymes (D) Conjugated enzyme

Ecosyst,gm services encompass :

(A) all the processes through which natural ecosystems help in sustaining human
life

(B) a third level of biological diversity

(C) species diversity in coastal ecosystem

(D) population of different species in an ecosystem

Extinction is a natural phenomenon that has been occurring since life first

evolved. Today it is high rate of extinction because :
-

(A) biodiversity crisis

(B) energy flow in ecosystem

(C) tropical forests are being cleared at an alarming rate .

(D) of extreme weather and flooding

T.B.C. : 25/15/ET—II 24
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43.

44,

The accumulated toxin concentrate in successive trophic levels of a food web.

This phenomenon is called :

(A) Bioconcentration (B) Biomagnification
(C) Bioagumentation (D) Bioremediation

The main cause of increase in the amount of CO, in Earth atmosphere over

the past 150 years is :

(A) increase in primary production

(B) increase in mechanization of agriculture'

{C) the burning of large amount of ?vood and fossil fuels
(D) Biomagnification of toxins

The feeding relationships among the species in a community determine the

community’s :

N
ot
€

Yo

(A) Secondary succession
(B) Ecological niche
(C) Species richness

(D) Trophic structure

T.B.C. : 25/15/ET—I1 26



42. @@ SE B FIHEE G SR A GgUS T M A & | gE WHST F wwaw

43.

T2
(A) JAfas =Ea (B) Sifas smads
(C) Sfas Ffs (D) Sfa® 9=

fredt 150 =4l § gyt & amEvsa # CO, F1 WA WP F Y TR M E ?
(A)mmmﬁqrz

@) Hfu 7 weEo § gf

(©) gl @i Sfewm fom % afaw W F s |

(D) WEw®H & Sa-maya 4§

44, @'ﬂgﬁmﬂmﬁrﬁ%a&aﬁﬁwm,mmﬁﬁ%ﬁﬁam%{

A

(A) Tedaes arEaT
(B) wfifeafast fasz (Fem)
(05 UG Gl

(D) 9t =

T.B.C. : 25/15/ET—II 27 P.T.O.



45. Keystone species are usually :
(A) Dominant and most abundant species in a community

(B) Less abundant species that exert a disproportionate influence on community

structure
(C) Dominant and most abundant species responsible for change in ecosystem
(D) Secondary community in ecosystem
46. Allopatric speciation ;
(A) is less common than sympatric speciation
(B) involves geographic isolation of some kind
(C) is the only kind of speciation that occurs in plants
(D) requires polyploidy

3
47. A taxonomic group that contains spécies that have similar phenotypes due to

convergent evolution is :
(A) Paraphyletic (B) Polyphyletic

(C) Monophyletic: (D) A good cladistic group

T.B.C. : 25/15/ET—II 28
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48.

49.

50.

A paraphyletic group includes :

(A) an ancestor and all of its descendants

(B) an ancestor and some of its descendants

(C) descendants of more than one common ancestor
(D) an ancestor with no descendants

Genetically identical individuals required in different environments may be

different in form physiology or behaviour. Such individuals démonstrate :
(A) Phenotypic plasticity

(B) Competing’&emands

(C) Later genotypes

(D) Genotype scores

»
»

Most animal phyla alive today make their first appearance in the fossil record

during :
(A) the Cambrian (B) the Laurentian
(C) the Triassic (D) the Miocene
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